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 frem: fredt g § 9 Ty @ REnfy & wwe § f< wwia @ wea gl
Note : In case of any doubt or discrepancy in any question, Hindi version will be valid.
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nswer accordingly.




@ug - d l SECTION - B
A INGA WA / Short Answer Type Questions

YA TG 1 #maamgawﬂaéiﬁrasmﬂ%mé;m%%qzamﬁafﬁa? 5x2=10

Question Nos. 1 to 10 are Short Answer Type. Answer any 5 questwns Each question

carries 2 marks :
1.

2.

=

L

.

b

Sx2= =10

1 912 9Ifeh gionia iFv(ljDeﬁne 1 watt power.
el TG I S S a"’ fo =iorh feTd 1|/ Write an expression for the kinetic cnergy of an

-object.

Wmﬁm%lwmﬁ@ﬁalémhﬂaﬁmavhaﬁlmbattewnghtsabulb

Describe the energy changes that takes place in this process.

aoTeed &Y gitumar €158 wEw ) ot ﬁT@l/ Define wavelength. Also write its unit.

q'q[?.f % WA’ W AT T IEId & ? /What do you understand by ‘mole’ of a substance ?
A <Y forel ‘cﬁ IEMERIC I EEARTNIC] /Write any two charactensucs of a molecule.
frfeafad gerd & et 'EEi f‘“c‘fé

(a) TSR IBATHES . e wehe

Write the chemical formulae or the following substances :




5. YU & Al ¥ A T GAAd 8 ?/What do you understand by ‘mole’ o1 a substance r

6. A i i E‘I faRwaan = fod /Write any two charactenshcs of a molecule.
7. frafafea geut & Tt 1{:’ fa@

(@) ToH LRIATHRS ¥R Bk

Write the chemical formulae of the following substances :

(a) Sulphur trioxide (b) Calcium phosphate

8. UMIcH &) gfoqm feT@ 1/ Write the definition of animal husbandty

9. FHTaS Gl o = gl 27 /What happens in organic farming ? -

10. ®wdc gIa q 0 a1 @ ?/ What is meant by crop protectmn ?
a?‘daﬂﬁa m/ Long Answer Type Quegtion‘

gy wEar 11 @ 15 7 4l I §) At 3 Al & I Tk & forg 5 ofm Ruifa @ : 3x5=1

p Question Nos. 11 to 15 are Long Answer Type. Answer any 3 questions. Each questic
3x5=

)
wcarries 5 marks : . | |
11 f&:ﬁmmﬁﬁqﬁmmilqﬁl-aa% hEE W m A ¥ e iz D e =l $ R
| =S TH @t|/Define potential energy- Obtain an expression for the potential energy of
h above thc carth s surface

rde-afmagssmata height
..... . st N Denlain wn




10. hd gtqu C1 MM UNTTY Y g veee—— - -
. Wmm/ Long Answer Type' Questions
gy e 11 8 15 a3 3wad 5) fri 3wl & 3w 3| vw & forg 5 9w Auifa g: 3 I e

re Long Answer Type. Answer any 3 quesﬁons. Each question
IxS5=15

carries 5 marks : ; |
1. et T ) o &1 ge- e 8 R W m e ¥ i e 6 e et $ fre
tial energy. Obtain an expression for the potential energy of a

h above the carth’s surface.
JeEw oF WA/ Wbat is a polyatomic ion ? Explain with

Question Nos. 11 to 15 a

=i W™ il Define poten
. body of mass m at a height

12. me%?@

some examples.

3. TEA $ Y frgr= ﬁﬁﬁ afe A fe/d1/ Write any five assumptions of

Dalton’s atomic theory.
L = Gl ?? fepa yn T& 44 il 1 & TE ? ?/What is crop rotation ? How

does it maintain the fertility of the soil ? .
5. uAEE TeH T & 98 Rrd| /Write an €ssay on beckecping.

T —
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1. 1 are 21f<h ot Ry &<

Answer:- 5T 1 "ehg H 1 Sl Y fohar Sirar g, dt
1Y ThiA ehi &2 T Holl egY e hl &< 1 dTe

hgelrdt gl

4. a3t hY gyt &1 9k
ATk ot ot ford

Answer:- fordt a1 & &t sermTa ftet ar arfeat &
dfter Y g ot AT ed hgd 8.

TICE i AR UR Uieh 38R oitssT (A) g

2 ITar ST &; g8 frdl Arem g R A ahy a1fd (v )
h SRTeR gldt & [oTd gqdht gl () & fasfoid
fraTsaT g A=v/f



5. geref o 'JieT’ @ 3TT AT 93
g7

Answer:- Al , 9ary <Y ag gra1 g, foigd o
AT (AT, T T 379]) hieH-12 h Sieh 12 g H
fererAT RATULSH & SRIeR gl &1 91d: fohet gard &

Uch A § ot <ht Izt A gidt g, e a=
6.022x1023 (3MTaimgl &) giar g

8. ggruTert hl giRumT i |

Answer:- TiR9TST Qo 312 gR[uTer Shie ohr fasm an
IRET & ST pfY UgLat & IJaure, T@HTA 3R USi=-
O Tafda &1 gsg ofier & forg die ofi SieRt
&l R Rk 8; g 9f8, g 3k Ay Tfga fafa=
GTel UeTdl 3R WIgeR, &, THEl AT SiF 3=
Jret & fIg SiTHeRt &t gTedd & |




9. hralfch Al H AT AT & ?

Answer:- 9 TR ch! Wl § gs-giuf & Srafre,
AHGR b Hel-q7, FiN-IYfAw a7fe e eyl
& 3UYeA gRI 931 &t &R 18 il | 394 Hid-
gRd Qa1er el FaiH ferar sirdT @ S arg § A1geie
9 &l TV &R TS IoTt aiffent A afafdd &

ST &Y I Uf<h T4 81

& I3 usy

12. IgURHTULER 3TA= /T @ ?
Answer:- SEUIHIU[G T8, Yeh | FTe] TRATI[A &
fTeTepR I9T TG BT 8, 879 UR Uah fAfRd smasr ghar
&, TEURHTULG 37T & §® 60T 4 §: rfifAam
(NH4)+, Gethe (S04)2-, hidhe (P04)3-, AT8ee
3 (NO-3), gregiangs A (OH-).

FGURATU[h HIIAT & R H $© IR ard:
SEURATU[ 1T H HgHa ST U gl 8.

fep<ft gER 31T & 1Y TG §4 F91 h BRI
g9 UR YT I1 HOTTeH AT el 2.

TgUTATUIh HTTA! & UIfiTeh dgUTHIh AT (Heh



14. FOA-ThUT T g ? fohT R
g Hal hl IdET IA1¢ 3@t § ?

Answer:- Thid IhUT Ueh Y Ugld & faad T at
& | shifich AigHl d fafa waed 3e Srdl €1 a8
daheteh [T S <Y IMyRfA g wiifer ag Mg
&Y Id=aT FHTT @, e 3R AT oh <aTd @l HH
e IR Ty gTiRiRfdcht g el ol derar & H
giTeT ol g1

15. AYHaE 9169 IR Uah &
fer)
Answer:- =0 I & U&Thd 39 HddqT | A

fArerer bl sirasaehdr gidl 81 A, 719 g HIF H gig
X I UTed fohaT ST Hehdl g1 AYHGE! Ul

9 chdol UTES I HIH &1 UTW 8191 81 I3 ATl 9k
et |t ura ghar € St ket A srafde #i g1



